














9.

Consider the reaction given below:

13

C,H, +?O — 4CO, +5H,0

[ 174 g of Butane reacts with 320 g of O,. Find the volume of H,O formed i ml. (given density
ot H O1s I g/ml)
7.

Match the following List - I with List - 11

l-

u Slight Warming

1)A-1IL B -1IL C-I, D-IV

2)A-IV,B-1IL C-1I, D -1
3)A-L,B-I,C-IIL D -1V

AHA-ILB-IV,C-1I,D-1
g a

Br Br
\ _/ hasdipole momentthan \ /

Asserion :

Br

— B | Br Br
Reason :

has more boiling pointthan \ __ /
Br

Choose the correct option

1) Both Assertion & Reason are correct, Reason 1s correct explanation of Asserion

2) Both Assertion & Reason are correct, Reason 1s not correct explanation of Asserion
3) Assertion 1s correct, Reason 1s incorrect

4) Asserion 1s incorrect, Reason 1s correct

Consider the following molecules

»
L

HC—CH=CH — — CH=CH—CH,

m i || [[TTTY g B9
O
i 1
i
O)
I
L »—Oulll"" 9

Number of optically active molecule(s) formed after complete reductive ozonolysis of above com-
pounds.

1) 2 2) 1

3)0 4) 3



10.

11.

12.

13.

If P, =350torrand P, = 750 torr and the two volatile liquids (A) and (B) form an 1deal solution.

X, and X are the respective k mole traction of (A) and (B) in solutionand Y, and Y, are the

respective mole fractions of (A)and (B) in the vapour phase. Which one of the following relation
1S correct?

' Y, _X, ) Y, X,
YB XB YB XB
" Y, X, " Y, X,
YB XB YB XA

Among the given order, the incorrect order of atomic radi1 1s
[) Ty <T, 2) Ty, <Ty

3) Ly <y 4) T <ty

Match the List-I with List -II and select the correct option

List-| (Solution) List-ll (Properties)
(A) Benzene + Toluene (P) Show +ve deviation
{B) Aniline + CH,;COOH (Q) AV,x=0
(C) Water + ethanol (R) AH_,;, ==ve
(D) Acetone + CHCI, (S) Form minimum boiling Azeotrope.

1) A>Q,B—>R,C—>P,S,D—>R
2) A—>S,B—>Q,R,C—>P.S,D—>R
3) A>Q,B—>P.S,C—>R,D—>R
4)A—->PS,B—>S,C—>P,D—>R

Which of the following compounds having molecular formula C_H,, O, and gives positive result to
2,4-DNP test and Tollen’s reagent test

1) H,C-CO-CH,-CH-(CH;),
2) OHC —(CH, ), —CH,
3) H,C-CO-(CH,),-CH

3

4) CH,-CO-C(CH,),






12.

13.

14.

15

16.

Let the foot of perpendicular from P(5, 1 -3)onthe lineL, : x-1=y=2=zandL,;x-2=y
=z — 115 Q and R, respectively. The area of triangle PQR 1s equal to (1n square unaits)

If a triangle 1s formed using lines y =x +1, y = 4x — 8, y = mx +c, 1f the orthocentre of this
triangle 1s (3, —1) then m - ¢ 1s equal to

Let ¢ and f be roots of the equation

) I L L)) .

(t+2)7 =1 |x"+| (t+2)s -1 X+\(t+2)21 =0 1f lﬁf{lﬁ:b}thenn(a+b)2isequalt0

_ N g J B
d—X

If the range of the function f(X) = 73l X #1,2 is (—oo:,a]u[ﬂ,,oo] ,then o” + 3 1s

equal to

If the equation of the line passing through the point | V- =<0 | and perpendicular to the lines

x—1 y+4 z-c
—a d —4

?:/I(i+aj+blz) and T:(i—j—6ﬁ)+y(—bi+aj'+512) 1S thena+b +

c +d 1s ever to

1) 12 2) 10 3) 13 4) 14
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